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PLTL Worksheet #11:

1. Why are bonds between second row elements shorter than third row
elements?
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2. Why is white phosphorous explosive, while the other allotropes are not?
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3. Metals
a. What are the 4 physical properties of metals?
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b. Describe how bonding in metals is different from “normal

molecules” “
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4. Lanthanide contraction
a. Whatis it?
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b. Of the pairs of lanthanides given, indicate which would have a
larger atomic radii
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5. Survey of Elements
a. Write one fact about each of the 1% and 2™ row elements
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b. Why do simple cations of elements such as B, C, N, O etc. not
exist?
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c. Why is N relatively unreactive?
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d. Third row (non-transition metal) eiements can have their d-orbitals

involved in bonding. What consequence does this cause for the
resultant geometries?

e~ love WAt "ﬁ'mm 4 lowés (u\mfjl(» u/Lv-—S

e. Why are C=C bonds fine, but Si=Si bonds unfavourable?
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6. Hard Soft Acid Base Theory
a. Write the formula for the quantitative definition of hardness
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b. Classify the following as hard or soft acids or bases
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¢. Would you expect the following reactions to proceed as written?
Why or why not?
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